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Sub questions

Question Number : 1 Question Id : 68634011954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T BT 1 WD & --
1. HeO-gdd
e der
 Pferd-BHA
4, A BT AR

Options :

68634047201. 1
68634047202. 2
68634047203. 3
68634047204. 4

| )

[#5]

Question Number : 2 Question Id : 68634011955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad & eeam &1 yaigar! T8 § -

1. U™

[

papivo}
i
4. Sfadh

Options :

68634047205. 1
68634047206. 2
68634047207. 3
68634047208. 4

L]

Question Number : 3 Question Id : 68634011956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR iddl & HId g |

1. 5 Y B4
BT R T
 SATETIRIE T TR

| )

L]

e

Options :

68634047209. 1
68634047210. 2
68634047211. 3
68634047212. 4

Question Number : 4 Question Id : 68634011957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[

.C,A.B,D.E
3.B,D.C,A.E
4 B.D.A.C.E

Options :

68634047213. 1
68634047214. 2
68634047215. 3
68634047216. 4

Question Number : 5 Question Id : 68634011958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foem o TeRFTT= 8 2
1. fagre
2. dgyd
3. dH
4. 390

Options :

68634047217. 1
68634047218. 2
68634047219. 3
68634047220. 4

Question Id : 68634011953 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634011954 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T BT 1 WD & --
1. HeO-gdd
e der
 Pferd-BHA
4, A BT AR

Options :

68634047201. 1
68634047202. 2
68634047203. 3
68634047204. 4

| )

[#5]

Question Number : 2 Question Id : 68634011955 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047205. 1
68634047206. 2
68634047207. 3
68634047208. 4
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Question Number : 3 Question Id : 68634011956 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR iddl & HId g |

1. 5 Y B4
BT R T
 SATETIRIE T TR

| )

L]

e

Options :

68634047209. 1
68634047210. 2
68634047211. 3
68634047212. 4

Question Number : 4 Question Id : 68634011957 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A fagTmadl
B. A

c.f g
D. faafifq
E. Jford
- fau 7TE faw eyl O 9 T8l ST &1 99 i ;

1.LAB.CED

[

.C,A.B,D.E
3.B,D.C,A.E
4 B.D.A.C.E

Options :

68634047213. 1
68634047214. 2
68634047215. 3
68634047216. 4

Question Number : 5 Question Id : 68634011958 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fadm fPa TPR ST I=§ 2
1. facmrs
2. gy
3.dHH
4. ST
Options :
68634047217. 1
68634047218. 2

68634047219. 3
68634047220. 4

Sub-Section Number : 2
Sub-Section Id : 686340396
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634011959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT T, ST O BT e o
1. giRIRTd 1 &g
2. H FHUl W S GRS

3. feamaT 9gd A1 W SR A 8H1
4. U B H S =81 T8l

Options :

68634047221. 1
68634047222. 2
68634047223. 3
68634047224. 4

Question Number : 6 Question Id : 68634011959 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT T, ST O BT e o
1. giRIRTd 1 &g
2. H Tl W S GRS

3. Te@TaT 95d 1 R OR A 81
4. H D H 4 31 81

Options :

68634047221. 1
68634047222. 2
68634047223. 3
68634047224. 4

Question Number : 7 Question Id : 68634011960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeRad 5 4 21 3 vea § yg T 9S1 8

1. PRP

%



Options :

68634047225 1
68634047226. 2
68634047227. 3
68634047228. 4

Question Number : 7 Question Id : 68634011960 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeRad 5 4 21 3 vea § yg T 9S1 8

1. PRP

| )

YA
SR
4. FER

Options :

68634047225. 1
68634047226. 2
68634047227. 3
68634047228. 4

L

Question Number : 8 Question Id : 68634011961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRdg gRY= &1 A fba ad gan 2

1.?[7‘[184?
2.9 1855
3.3517‘[185{)
4.3'_‘[1885

Options :

68634047229. 1

68634047230. 2

68634047231. 3
68634047232. 4

Question Number : 8 Question Id : 68634011961 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR BRY= &1 o4 [ ay gan 2

1. 9 1847
2. 9-11855
3.9 1850
4.9 1885

Options :

68634047229. 1

68634047230. 2

68634047231.3
68634047232. 4

Question Number : 9 Question Id : 68634011962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEREY DI g ol ga Ul 2
1. HITgX

[

. eleddRI

3. VARG

4. FREde

Options :

68634047233. 1
68634047234. 2
68634047235.3
68634047236. 4

Question Number : 9 Question Id : 68634011962 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PR B PG Pl gs A 2
1. HllgR

| )

. dedRT



Options :

68634047233. 1
68634047234. 2
68634047235. 3
68634047236. 4

Question Number : 10 Question Id : 68634011963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad § qag v T 8 2
1. Al

3y
TEd
4. 3{TIBT

Options :

68634047237. 1
68634047238. 2
68634047239. 3
68634047240. 4

| )

L

Question Number : 10 Question Id : 68634011963 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad # ooy T T 8 2
1. Al

3y
TEd
4. 3{TIBT

Options :

68634047237. 1
68634047238. 2
68634047239. 3
68634047240. 4

| )

L

Question Number : 11 Question Id : 68634011964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



25 BT B T BATH. 72% B9 G § T Wad ¢ | {hds o Ta § 4FT a1 99=< 8] 3d 2

1.5

|
O

4 8

Options :

68634047241. 1
68634047242. 2
68634047243. 3
68634047244. 4

Question Number : 11 Question Id : 68634011964 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

25 BTH B UD DETH, 72% B Wd & = 36d ¢ | [od- 93 ©d § HHT a1 98- gl d3d 2

1.5

| )
[

4 8

Options :

68634047241. 1
68634047242 2
68634047243. 3
68634047244 4

Question Number : 12 Question Id : 68634011965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I X3l & A | SUId 2:3 & 9U1 3 YR i T H 3FUId 1:2 8 | 37! SHalg H U 6 :

1.8:3

|

. 4:3

[#N]

. 3:8

4. 34

L %]

Options :
68634047245. 1
68634047246. 2



68634047247. 3
68634047248. 4

Question Number : 12 Question Id : 68634011965 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&I Xl & A H UM 2:3 § GUT 30 YR Bt 1§ SFU1d 1:2 8 | 3791 SHals § 3Ua 6 -
1.8:3

2.4:3

L#N]

. 3:8

4. 34

(]

Options :

68634047245. 1
68634047246. 2
68634047247. 3
68634047248. 4

Question Number : 13 Question Id : 68634011966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

722,500 A TR 18 A1 & AU 8% a1t 1 = U I gl o016l T1d B2 AlS &4Ts B MU Wi S: ARl
glal 81 | ( FPead 2 9@ 98l)

1. 2750

| o

. 2792
3. 2809
4. 2852

Options :

68634047249. 1
68634047250. 2
68634047251. 3
68634047252. 4

Question Number : 13 Question Id : 68634011966 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. 2750

| B

. 2792
3. 2809
4. 2852

Options :

68634047249. 1
68634047250. 2
68634047251. 3
68634047252. 4

Question Number : 14 Question Id : 68634011967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 3EHN 15 Raufus sl & 6 TG B X g@d ¢ | 58 &1 &I U 1T 100 TG S S IHhar s | U @il
SYFH Pl fhad R T R Idi e 2

190G H
2 125l d
3,150 el
4. 225 d
Options :
68634047253. 1
68634047254, 2

68634047255. 3
68634047256. 4

Question Number : 14 Question Id : 68634011967 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



10 st 15 Ot s Pl 6 TG H R gad © | St &1 &1 U H1eHT 100 G F e 9oar e | Ua it
SO o P b R A e godi g 2

1.oofeaid
2 125l d
3,150 el
4. 225 d
Options :
68634047253. 1
68634047254, 2

68634047255. 3
68634047256. 4

Question Number : 15 Question Id : 68634011968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G ABT4/5 =BBI60% = CBI0.750 ABCH:

1. 4:5:6

b

1:4:5

(5]

. 15:20:16
4.16:12:15

Options :

68634047257. 1
68634047258. 2
68634047259. 3
68634047260. 4

Question Number : 15 Question Id : 68634011968 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G ABT4/5 =BBI60% = CBI0.750 ABCH:

1. 4:5:6

L

1:4:5
3.15:20:16
A4 16:12:15

Options :



68634047257. 1
68634047258. 2
68634047259. 3
68634047260. 4

Question Number : 16 Question Id : 68634011969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Y-

Pig A. Bl &
PEB.Co
gfic.p?
ey .
LPTADE
.94 B.D®
1. Pad I 38R0 HRT &
2. &ad 11 38R0 Hdl §
3.1 3R 11 38R0 Hedl §
4. TS 11 FERUPA &
Options :
68634047261, 1
68634047262. 2

68634047263. 3
68634047264. 4

Question Number : 16 Question Id : 68634011969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y

PI5 A BRI ©

TEB.CT
@ic.pe

fep .
LTFTADT
9B DT

1. Had [ TR0 P18

b2

. A IT AU Dl %’

L]

1 3R I SRR &3l §
4. TS 11 FERUPA &
Options :
68634047261. 1
68634047262. 2

68634047263. 3
68634047264. 4

Question Number : 17 Question Id : 68634011970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUT . 5. B T Hedl 8 - T IR MUS! 0 a1 ot Sifg (e fed ooy staex 3
2G| GIEIY

JAYRONY : 1 : FOTo STaex, R STaex 3T 3 50T - § ifie G 8 &
11: Y, Afid R W U5 B GaTe 76l G|

1. 1% Faa gdyron 1 Siatiia g
2. 9fe Faw QRO 1 affEa &
3. O A qdurRon 1 styarn SfaffEa @
4. fe gAYRUN T 3R 11 &I Sidi-lgd 8

Options :

68634047265. 1

68634047266. 2
68634047267. 3



68634047268. 4

Question Number : 17 Question Id : 68634011970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYT: g, BV Y Hedl 6 - U IR UB] 3Y- [Ua1 Bl &g (GLi&on) fedl vy siex 4
FHaFl F1lgy

YR - 1 ; [IRINY STde, WIYURU Slaex Bl S{Uef Salel 3 H U &M Bld o
11: BN, AfYd IR W Ugd B el 76l 7|

1. IfE Haq qaeRuN 1 3faffed &
2. 9 Faw [EuUROT 1 3aFfEa &
3. afg ardl gduRon 1 styarn SiafEa
4. TfE QYR 1 3R 11 AT SfaffEa ©

Options :

68634047265. 1

68634047266. 2

68634047267. 3
68634047268. 4

Question Number : 18 Question Id : 68634011971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y Ud §1§ 5[Sdl 6. 1. 919 $I g6 o | o, JH &1 Ufd §, T&H] G &1 AT © | o= A&H ST Ui ©
oI, Io ¥ g TR 9 gEfid 8 2

= (3P )

—

[

9 3 9l (GTH1G)

TR

4. Pyl

L]

Options :

68634047269. 1
68634047270. 2
68634047271. 3
68634047272. 4

Question Number : 18 Question Id : 68634011971 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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—

= (3P )

[

9 3 9l (GTH1G)

4. Pyl
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Options :

68634047269. 1
68634047270. 2
68634047271. 3
68634047272. 4

Question Number : 19 Question Id : 68634011972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(?) & o103 Wsg D1 AU - & SHT 3R FHH Yde & &Y § 3@ 10 2
TR : G4 R - X : 2
1. féor
2. Gfémr-ufgy

3. I -uiEgH

4. 3«

Options :

68634047273. 1
68634047274. 2
68634047275. 3
68634047276. 4

Question Number : 19 Question Id : 68634011972 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(7) & 10 39 Teg I IFT S - & ST 3R FHH a9 & &9 H T@T o0 2
IR : I&ULOYE - R - ?

1. G

2. cfamr-afas

3. I -ufEH

4. IR

Options :

68634047273. 1
68634047274. 2
68634047275. 3
68634047276. 4

Question Number : 20 Question Id : 68634011973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I TS AR $1 304 0= ¥ 99 B S0 g2 @l 10 fasHio g fgun o g o 1 sisdl 6. R
a8 3 HTa-Tar ¥ e St €, 511 % ¥ 15 favtiio ufEm 1 3gd 8. R a8 Sus @iig- & i uie
TR & Ol € off o 393 ATa1-far & 9= 9 40 feite SwR T fua § | 9 iR Ras I e uiemn
5 Wil § | 98 &0 g 4. ol IR ¥ 25 fdhHio Ra &1 ok [Rua 7. ofd & ag 30 failo glérr fa=m
@ U1 R U 21 Jgaal & | §eio Dol IR RRUYd &2

1. TR 4 10 feorito g

| )

. THd 9 10 fbrio IR

. IHd ¥ 10 fhrlo R
4, TR 9 10 fortiio ufgm

Options :

68634047277. 1
68634047278. 2
68634047279. 3
68634047280. 4

L

Question Number : 20 Question Id : 68634011973 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I TS AR $1 304 0= ¥ 99 B S0 g2 @l 10 fasHio g fgun o g o 1 sisdl 6. R
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5 Wil § | 98 W07 s 4. Ol 9IR ¥ 25 fahtio [Ra &1 ok [Rya 8. ofd @ ag 30 fastilo gféror fa=m
@ YT PR U g1 Jeaail & | §eio Pel IR Ryd &2

1. TR ¥ 10 friio R

[

pd ¥ 10 febelo T

. IHd 9 10 fhrito g
4, TR 9 10 foptiio uigm

Options :

68634047277. 1
68634047278. 2
68634047279. 3
68634047280. 4

L]

Question Number : 21 Question Id : 68634011974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HGel-d & B! b Ul dp A ' [HTH s JieHl ' & Sdiid TS USRIEE & 1Y FISiER] [l 5

1. OoTE “RAA 8§ F

PRIdP
4, YRJG T dF

Options :

68634047281 1

68634047282. 2

68634047283. 3
68634047284. 4

[

L]

Question Number : 21 Question Id : 68634011974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IdsT® & 31 B Il d 3+ e g dierr & 3idvid Toe TSRIEE & 1y ger
1. U978 99 8§
PRI dF
4. YR ®e 9%
Options :
68634047281 1
68634047282. 2

68634047283. 3
68634047284. 4

[

L]

Question Number : 22 Question Id : 68634011975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST 1 (RAaTSt @17 ) LIST 11 (&)
A [Hded oiH 1 [glehl
B. [disi rpe i CIESD
C. [&10 TY U] II1. [Bd3s
D. [3¥RusH= IV [¢ad 249
- fau e faweyl O 9 98l ST &1 99 Bifv ;

1. A-IV. B-II. C-I, D-III

[ ]

AL B-IV. C-11, D-1
3. A-IL B-IV., C-1, D-II
4. A-II1. B-IV. C-I. D-II

Options :

68634047285. 1
68634047286. 2
68634047287. 3
68634047288. 4

Question Number : 22 Question Id : 68634011975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Re@TSt &1 ) LIST II (8)
A [Hoed TRH 1 [gihl
B. [disl e 1. [STeE
C. [ UY Uad] II1. [2iddal
D. [3¥RusH= IV [¢ad 249
- fau e faweyl O 9 98l ST &1 99 Bifv ;

1. A-IV. B-II. C-I, D-III

[ ]

CA-ILL B-TV. C-I1. D-1
3. A-IL B-IV, C-1, D-1I
4. A-IIL. B-IV. C-1. D-1I

Options :

68634047285. 1

68634047286. 2

68634047287. 3
68634047288. 4

Question Number : 23 Question Id : 68634011976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR TRPR B 9921 o Fafeiea & 3 g 3 ddfda &
1. T S

. IR UIh 0

.ot 4t uel gRaRi &1 S

fEE em

Options :

68634047289. 1

68634047290. 2

68634047291. 3
68634047292. 4

[

L%]

e

Question Number : 23 Question Id : 68634011976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR IRBR &1 T3 Tior Hefafad 8 3 feg I dafia

1. oy dfdem
2. GTE] T
3. ot 4t uel gRaR] &1 S
4. S &7

Options :

68634047289. 1

68634047290. 2

68634047291. 3
68634047292. 4

Question Number : 24 Question Id : 68634011977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EEEACRIC AT [
HYTL: 20 5ol Y 20,000 ool & HH B it HET dTell @1 a1 TR-9e8 a1 Dealdl o
®Y I1: 20,000 §Col Y AU 3M1gfed el @ a1 YRIYed a¥il Poaril o

SIRIT FYAI & e 1. F4 5y T fosedl ¥ 4 gas Sugad IR &1 997 S
1. BYTI IR PUT I H Tal

DY IR DY I I Tdd §

3. Y1 FEl 5. ifch Y 11 7Ted &

4. FYT A 8. AFT I I S

[ ]

Options :

68634047293. 1
68634047294. 2
68634047295. 3
68634047296. 4

Question Number : 24 Question Id : 68634011977 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁaaﬁﬁmﬁqm% -
HYTL: 20 T F 20,000 T P A BT Hgfed ST arelt et a0 TR-e a8 peardl &
HYA I1: 20,000 TCol Y TS 31gfcd ATl @G T gIYe a¥il Foand o

SIRIT FYAI & e 1. F4 5y T fosedl ¥ 4 gas Sugad IR &1 997 S
1. BYTI IR PUT I H Tal

DY IR DY I I Tdd §

3. Y1 FEl 5. ifch Y 11 7Ted &

4. FYT A 8. AFT I I S

[ ]

Options :

68634047293. 1
68634047294. 2
68634047295. 3
68634047296. 4

Question Number : 25 Question Id : 68634011978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
" HeTad HiY SHawT (UUI)" i TS 3T fhad gRIdl 7d! ot 2
1. TS Sagieit
2. TS et
3.8 PHaNH
4. 1S HoiA

Options :

68634047297. 1
68634047298. 2
68634047299. 3
68634047300. 4

Question Number : 25 Question Id : 68634011978 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



" HeTae 1Y AT (HUITCl)" B B 3H1d fhdd gRI a1 7t o 2
1. TS Sagieit
2. TS et
3.8 PHaNH
4. 1S HoiA

Options :

68634047297. 1
68634047298. 2
68634047299. 3
68634047300. 4

Part B: Architecture
Section Id : 686340238
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340397
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 68634011979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hagia Sophia was built at:

1. Istanbul

(B

. Rome

3. Dellu

=y

Italy

Options :

68634047301. 1
68634047302. 2
68634047303. 3
68634047304. 4



Question Number : 26 Question Id : 68634011979 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gifor <ifthar gl fRrd o
1. g
2.3
3. feeedt
4. et

Options :

68634047301. 1
68634047302. 2
68634047303. 3
68634047304. 4

Question Number : 27 Question Id : 68634011980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s not a part of public buildings.

1. Housing complex buildings
2. Educational buildings
3. Recreational buildings
4. Institutional buildings

Options :

68634047305. 1

68634047306. 2

68634047307. 3
68634047308. 4

Question Number : 27 Question Id : 68634011980 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 O B9 YT GIBRI Ya el &
1. TaTETg gRER Had
QP vaa
ARG ®T Had
4, grene vaq
Options :
68634047305. 1
68634047306. 2

68634047307. 3
68634047308. 4

[ ]

L]

Question Number : 28 Question Id : 68634011981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Glare is caused by.

1. Sunlight or Daylight

[ )

. Artificial light
3. Colours
4, Contrast

Options :

68634047309. 1
68634047310. 2
68634047311. 3
68634047312. 4

Question Number : 28 Question Id : 68634011981 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHDIUA Pl DR &

g B 1 e B =T
T A

3.3

4, - a9

Options :
68634047309. 1

—

| ]



68634047310. 2
68634047311. 3
68634047312. 4

Question Number : 29 Question Id : 68634011982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lalbagh Garden, Banglore is a.
1. Hanging garden
2. Memorial garden
3. Botanical garden
4. rock garden
Options :
68634047313. 1
68634047314. 2

68634047315. 3
68634047316. 4

Question Number : 29 Question Id : 68634011982 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIS T AIAarT 39 o

1. Sl g3 I

| )

HR® 3
 ga9id 3=

4. U I

[#5]

Options :

68634047313. 1
68634047314. 2
68634047315. 3
68634047316. 4

Question Number : 30 Question Id : 68634011983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In total flux method or Lumen method . which is not considered for calculation of effective or actual flux
received on the work plane.

1. Maintenance factor

| ]

. Glass factor
3. Daylight factor
4. Bars or Framing factor

Options :

68634047317. 1
68634047318. 2
68634047319. 3
68634047320. 4

Question Number : 30 Question Id : 68634011983 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mwaguﬁm@mwﬁﬁﬁ%ﬁuﬁmmmmﬁmwﬁﬁmﬁwémﬁ
HHT ST B:

1. g SRS

2. T RS

3. 8- dEC BRI

4. 19 1 P PR
Options :
68634047317. 1
68634047318. 2

68634047319. 3
68634047320. 4

Question Number : 31 Question Id : 68634011984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following instrument can be used for shadow analysis based on Sun-path science.

1. Total station

| B

. Heliodon
3. Anemometer

4. Pyranometer



Options :

68634047321. 1
68634047322. 2
68634047323. 3
68634047324. 4

Question Number : 31 Question Id : 68634011984 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g0 ¥ o5 IUaRul &1 I9anT 9 Uy fa57H o SR faweivor & o fdar 5 &:
1. guf H&or ®d
feferarsia
Repiesieeirey
4, UIERHIHIEY
Options :
68634047321. 1
68634047322. 2

68634047323.3
68634047324. 4

| )

L

Question Number : 32 Question Id : 68634011985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What 1s the slope of Ramp designed for wheel chair user.

1.1:12

| B

. 1:10
315
4. 1:20

Options :

68634047325. 1
68634047326. 2
68634047327. 3
68634047328. 4

Question Number : 32 Question Id : 68634011985 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UfedgR Suf &1 SUURT HA arel & gfaen & e v 3t gam T gkt &

171212

-2

. 1:10
3.1:15
4.1:20

Options :

68634047325. 1
68634047326. 2
68634047327. 3
68634047328. 4

Question Number : 33 Question Id : 68634011986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which are the example of contemporary buildings of 21 century.

A. Olympic National Stadium. Beijing

B. Hagia Sophia, Istanbul

C. California Academy of Science, San Francisco
D. Singapore National Library

E. Casa Mila, Barcelona Spain

Choose the correct answer from the options given below:

1. B. C and D only

[ ]

.C.D and E only
3.A.Cand D only
4. A Cand E only

Options :

68634047329. 1
68634047330. 2
68634047331. 3
68634047332. 4

Question Number : 33 Question Id : 68634011986 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S ¥ S1H-H SART 21 f Gel B GHS I SHRd $I 3860 6

A. HdiUe A9 TiegH, dife

B. BIfoa fthar, Sxdiga

C. BIABIG ThsH! 3P TR, T WHifws]
D. FTIYR A3Ta Argsii

E. 11 (a1, STiaEn

i< fau Y fdeedl © § 99 Sugad TR &1 99 iy

1. $adA B. C AR D
2.%ad C.D 3IRE
3.9 A.C 3RD
4.%ad A.C 3RE

Options :

68634047329. 1
68634047330. 2
68634047331. 3
68634047332. 4

Question Number : 34 Question Id : 68634011987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is used as structural system in buildings.

A. Cornice

B. Bundled tube

C. Stylobate

D. Trusses tube

E. Outrigger Frame

Choose the correct answer from the options given below:

1.A.CandD only

[ ]

.B.D and E only
3.B. Cand D only
4. C.D and E only

Options :

68634047333. 1
68634047334. 2
68634047335. 3
68634047336. 4



Question Number : 34 Question Id : 68634011987 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
<H fopareT SUTT SHRG! 1 ERE-Tee Horel & BT &:

A, BIFET (BREAE)
B.Ei;ﬁﬁﬂ?ﬁ

i< fau Y fdeedl © § 99 Sugad TR &1 99 iy

1.%ad A.C3RD
2.%ad B.D 3IRE
3.%4d B.C 3RD
4.9 C.DARE

Options :

68634047333. 1
68634047334. 2
68634047335. 3
68634047336. 4

Question Number : 35 Question Id : 68634011988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: One of the imporiant facts that requires careful examination during deciding the requirements of new town is function
of the town.

Statement Il: Welfare of people is not a major fact that needs to be considered during deciding the requirements of new town.
In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement | and Statement 1l are true

| ]

. Both Statement | and Statement 1l are false
3. Statement | is true but Statement Il is false

4, statement | is false but Statement Il is true

Options :
68634047337. 1



68634047338. 2
68634047339.3
68634047340. 4

Question Number : 35 Question Id : 68634011988 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEARAICAGUES

BYA I T EX B ATTRIGAIS] DI T8 B & &R G Jdd URI&1 B HaRgasdl ard Heedq0]
PRSP T Y P TR DI PN B

G I1: T 1 BTl U YT FRS o © o1 74 UER DI HaRGS a1 &l 79 P 994 [daR P
P AT B |

SR FYA & JAdlD |, A1 feu 0 fdwedi 4 T gt IR &1 994 SIord:
1. BYTI RIS I &
2. HYF1 AR ST ST &

5. PUTI I S, AT HYT I HET ©

4. U AT 8. AP PUT I T &

Options :

68634047337. 1
68634047338. 2
68634047339. 3
68634047340. 4

Question Number : 36 Question Id : 68634011989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Banyan tree, Peepal tree. Imli tree and Ashok tree are preferred on road side plantation.
statement IIl: They are considered for their potential for pollution control.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

| )

. Both Statement | and Statement 1l are incorrect
3. Statement | is correct but Statement Il is incorrect

4, statement | is incorrect but Statement Il is correct

Options :

68634047341. 1
68634047342. 2
68634047343. 3
68634047344. 4

Question Number : 36 Question Id : 68634011989 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B AR Et S

DY LUSD D (1R aT&, FHal SR RN & US| o G&RUL B YUHdwdl &l dlieu]
BY I1: 375 WG [HUAUI B FAS! GUTT 4T & [ JIH1 &Il § |

SWRIG Y & el H, i fau Y fdeedl § 9 a8 3uged SR &1 90 SIfew:

1. PYTI ARSI T E

2. BYT 1 AR 1 SHT AT |
3. DY g ©., AfhT HUA 11 39 ©

4. P3O e AfPT Py I g ®

Options :

68634047341. 1
68634047342 2
68634047343. 3
68634047344, 4



Question Number : 37 Question Id : 68634011990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: A minimum open space of 60 cm is to be provided in front of any sanitary fixture for movement.

Statement Il: Storage capacity of tank above 5000 liters should preferably be divided into two or more tanks/compartment to avoid
interruption of water supply, due to repair of one tank.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

| ]

. Both Statement | and Statement 1l are incorrect
3. statement | is correct but Statement Il is incorrect

4. statement | is incorract but Statement |l is correct

Options :

68634047345. 1
68634047346. 2
68634047347. 3
68634047348. 4

Question Number : 37 Question Id : 68634011990 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEARAICAGUES

HYA I Tt ot S ftraer(@iaTeg © ooagd 9M) & 1dfdfE & [0 0 W &1 60 cm $ Gl
SIS 3Ud&] SIS o1 1ed|

B I1: 5000 Tiex Y HH P D1 1SR & B &1 A1 &1 § 31 Sl & [quIford fan s =gy
d1fdr Ueh ¢ &1 ARETd & DIRUI AT B ST H §1e7 = 34|

SRIFd HYF & ATAlE A, T U T faweai § I 98t 3 &1 994 i

L. BYFIAR IS IT B
2. HYF1 AR 11 ST A S
3. PYTIIA T, Al YT I 3T &

4 FYTIHEI e AfpTE I g 8

Options :

68634047345. 1
68634047346. 2
68634047347. 3



68634047348. 4

Question Number : 38 Question Id : 68634011991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Components of means of Egress.
A. Atrium
B. Lobby
C. Exit stairway
D. Shaft
E. Exit Discharge

Choose the correct answer from the options given below:

1. A. B and D only

[ ]

.B. C and E only
3. A Band ¢ only
4. C.D and E only

Options :

68634047349. 1

68634047350. 2

68634047351. 3
68634047352. 4

Question Number : 38 Question Id : 68634011991 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ar faae & T o

-
B. UHIY (dlal)
C. gex Fda- ardl it
D. Y9
E. e fAdes
e feu e fawedl 4 § Te9 SUgad 9T &1 994 BT
1. PATA. B3R D
2.%ad B.C 3IRE
3.%dd A.B3IRE
4. %9 C.D 3RE

Options :



68634047349. 1
68634047350. 2
68634047351. 3
68634047352. 4

Question Number : 39 Question Id : 68634011992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Spatial resolution 1. Matrix of image elements or pixels
Spectral Eesolution II. [Frequency of repetitive coverage

R adiometric resolution] [Tl [Number of bands and its wavelength range
. |[Temporal Resolution | IV. |Sensitivity of Defector

EEE

Choose the correct answer from the options given below:

1. A4 B-ll CAv D-Nl

2

AL B G-IV DA

LFS]

AW B-lIl C-l DN
4, Al B-IV -1 D-ll

Options :

68634047353. 1
68634047354. 2
68634047355. 3
68634047356. 4

Question Number : 39 Question Id : 68634011992 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

Tt 1 T 11
T Hdhed 1. [&fd il & Mg o Afeay
qUHH G | 1L [Siaiyeae® oaid &1 siaRdl
AU ey 11 [6S & W= AR 39! vl o 9]
[BIcidh] bl IV, [HTa® &1 Gac=iidal

frafatad fowel 5 9 96t S| &1 994 DI -

1. A4 B-Il CAV D-ll

ofofw]-

|

AL B GV D-H

L]

BV B-IL CA DN
4, aA-ll BV C-l D-ll

Options :

68634047353. 1
68634047354. 2
68634047355. 3
68634047356. 4

Question Number : 40 Question Id : 68634011993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Jawahar Kala Kendra was designed by:

1. Le Corbuster

[ )

. Charles Correa
3. B.V Doshi
4. Christopher Charles Benninger

Options :

68634047357. 1
68634047358. 2
68634047359. 3
68634047360. 4

Question Number : 40 Question Id : 68634011993 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STaTedrd S 5 &1 ST g §415 U
T PREYRR

e pife

ot dt. =i

4. PR 9o SR

a—y

[

L]

Options :

68634047357. 1
68634047358. 2
68634047359. 3
68634047360. 4

Question Number : 41 Question Id : 68634011994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Interface between an already setting concrete and fresh batch of conerete is referred as.

1. Expansion joint

[ )

. Cold joint

L]

. Guniting joint
4. Grouting

Options :

68634047361. 1

68634047362. 2

68634047363. 3
68634047364. 4

Question Number : 41 Question Id : 68634011994 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ugd 4 1T bic SR T @1 T Sehic & &b & Siavyy B Hel ol 6
1. ardg f[awR o
IS

| )

L

L RIERSUIG]

Options :
68634047361. 1



68634047362. 2
68634047363. 3
68634047364. 4

Question Number : 42 Question Id : 68634011995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is not a direct disaster.
1. Flood
2. Epidemic
3. Storm
4. Migration
Options :
68634047365. 1
68634047366. 2

68634047367. 3
68634047368. 4

Question Number : 42 Question Id : 68634011995 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047365. 1
68634047366. 2
68634047367. 3
68634047368. 4

Question Number : 43 Question Id : 68634011996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



With reference to conservation the term 'Reconstruction' refers to-

1. Re-creation of vanished elements

[

. Reproduction of an exact copy
3. Returning to previous stage
4. Piece by piece re-assembly
Options :
68634047369. 1
68634047370. 2

68634047371. 3
68634047372. 4

Question Number : 43 Question Id : 68634011996 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047369. 1
68634047370. 2
68634047371. 3
68634047372. 4

Question Number : 44 Question Id : 68634011997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Indian Building Energy Code is based on:

1. The elemental method

| )

. The target-U-value method

Lad

. The Energy rating method

4. All of the above

Options :
68634047373. 1



68634047374. 2
68634047375.3
68634047376. 4

Question Number : 44 Question Id : 68634011997 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S5 fafesT Uil s snutid &
g UfeHed gafa
& R deg UGl
& TS AT U
4, IURIed JHt

Options :

68634047373. 1
68634047374. 2
68634047375. 3
68634047376. 4

fa—y

[ ]
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Question Number : 45 Question Id : 68634011998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is length of shadow generated for a free standing boundary wall of 2 meter by sunlight incident at angle
30°, 60°, and 90°.

1. 24/3,2,0

Options :

68634047377. 1
68634047378. 2
68634047379. 3
68634047380. 4

Question Number : 45 Question Id : 68634011998 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68634047377. 1
68634047378. 2
68634047379. 3
68634047380. 4

Question Number : 46 Question Id : 68634011999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s not a component of sum path diagram.

1. Latitudinal lines
2. Altitude lines
3. Azimuth lines
4. Date lines

Options :

68634047381. 1

68634047382. 2

68634047383.3
68634047384. 4

Question Number : 46 Question Id : 68634011999 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047381. 1
68634047382. 2
68634047383. 3
68634047384. 4
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Question Number : 47 Question Id : 68634012000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A freedom Tower, New York 1. |5antiago Calatrava
B. [Bugj Khalifa, Dubai II. IDaniel Libeskind
C. Milwaukee Art Museum, Wiscosin] IT1. [Frank o Gehry
D |Vitra Design Museum, Bosel IV, JAdrian Smath

Choose the correct answer from the options given below:

1. ad1Bv c-1 DN

[

Bl BAIE -1 D-IV
3. A B-IV Cll D
4. AV B4 C-ll DAl

Options :

68634047385. 1
68634047386. 2
68634047387. 3
68634047388. 4

Question Number : 47 Question Id : 68634012000 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4, A-IV B-l C-ll Dl

Options :

68634047385. 1
68634047386. 2
68634047387. 3
68634047388. 4

Question Number : 48 Question Id : 68634012001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the various strata of soil and earth layer found in excavation from top to bottom.

A Loose Gravel
B. Coarse Sand
C. Rock

D. Fine Sand

E. Silty Sand

Choose the correct answer from the options given below:

1. E-D-B-A-C
2.E-D-A-C-B
3. D-B-E-A-C
4. D-A-E-B-C

Options :

68634047389. 1

68634047390. 2

68634047391. 3
68634047392. 4



Question Number : 48 Question Id : 68634012001 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wars o fireht gt ot fafir iRt oiR fird &6 oRa &l IR & 1R Y 3iR et Bt

A PHS
B. Oidi¥d
C. =g
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i fau U fde el § ¥ 99 Iugad SR &1 98- iy

1. E-D-B-A-C

2.E-D-A-C-B

3.D-B-E-A-C

4. D-A-E-B-C
Options :
68634047389. 1
68634047390. 2

68634047391. 3
68634047392. 4

Question Number : 49 Question Id : 68634012002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

statement I: The minimum width of cycle track 1s 3 meter. if overtaking is to be provided.

statement I: Cycle tracks may be provided when peak hour cycle traffic 1s 400 or more on routes where traffic
of 100 to 200 vehicles/hour

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

[ )

. Both Statement | and Statement 1l are incorrect
3. statement | is corract but Statement Il is incorrect

4. statement | is incorrect but Statement Il is correct

Options :
68634047393. 1
68634047394. 2



68634047395.3
68634047396. 4

Question Number : 49 Question Id : 68634012002 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047393. 1
68634047394. 2
68634047395. 3
68634047396. 4

Question Number : 50 Question Id : 68634012003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

Author Name of Books
. | E. Howard I. |The citv of Tomorrow and its planning
lan Mc Harg 1. |Garden cities of tomorrow

e Corbusier I11. [Earthscape
. |1ohn O Simonds| IV. [Design with nature

ol Fo] o] g

Choose the correct answer from the options given below:

1. A BV c-1l DAl

[

LBl B-IV CHll Dl
3.Av Bl C1 DN
4. Al B-IV C-I D-lI

Options :

68634047397. 1
68634047398. 2
68634047399. 3
68634047400. 4

Question Number : 50 Question Id : 68634012003 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. a0 BV C-Il DAl

o[ofw]>

| )

LAl BV CHll D
3. AV B-Il C D-ll
4, Al B-IV C-I DAl

Options :

68634047397. 1
68634047398. 2
68634047399. 3
68634047400. 4



Question Number : 51 Question Id : 68634012004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Residential hotels I 20m
B. Povate Dwellings II. [1.5m
C. |Apartment Houses . 1.25m
D. |Assembly & mstitutional] TV | 1.0m

Choose the correct answer from the options given below:
L. Al BV C-ll D
2. A BV CHNl Dl
3. Al Bl G-IV D
4, A1 BV C-ll Dl

Options :

68634047401. 1
68634047402. 2
68634047403. 3
68634047404. 4

Question Number : 51 Question Id : 68634012004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A0 B-IV C-ll DAl

ofaw]>

| B)

. A-l B-IV C-Il D-ll
3. A0 B CIV DA
4. A1l BV CIl D

Options :

68634047401. 1

68634047402. 2
68634047403. 3



68634047404. 4

Question Number : 52 Question Id : 68634012005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Luminous Intensity] I |[Lux (1x)
B. [Luminous Flux II. |Candela (cd)
C. [luminance 111 [Candela per meter square (cd'm”
D. [Luminance IV |Lumen (lm)

Choose the correct answer from the options given below:

1. A1 B-IV C-1 DI

[ ]

A B-IV 1 DN
3. A1 B CIV D-ll

4. a-ll B C-IV D-HNI

Options :

68634047405. 1
68634047406. 2
68634047407. 3
68634047408. 4

Question Number : 52 Question Id : 68634012005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. a1 B-IV C-1 DIl

R EE

2

AN B-IV G- DA

L]

LAl Bl C-IV Dl
4. A-ll B-l -1V D-lI

Options :
68634047405. 1



68634047406. 2
68634047407. 3
68634047408. 4

Question Number : 53 Question Id : 68634012006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Areas that have similar rainfall and temperature will share similar climatic zone.

Statement II: Areas that have similar rainfall and temperature will have different climatic zones.

In the light of the above statements, choose the most appropriate answer from the options given below.
1. Both Statement | and Statement Il are correct
2. Bath Statement | and Statement Il are incarrect
3. statement | is correct but Statement Il is incorrect

4, Statement | is incorrect but Statement Il is correct

Options :

68634047409. 1
68634047410. 2
68634047411. 3
68634047412. 4

Question Number : 53 Question Id : 68634012006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047409. 1
68634047410. 2
68634047411. 3
68634047412. 4

Question Number : 54 Question Id : 68634012007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one of the following is not a barrier for wheel chair users?
1. Steps
2. Revolving Door
3. Ramp with 1:10 slope
4. Ramp with 1:20 slope
Options :
68634047413. 1
68634047414. 2

68634047415.3
68634047416. 4

Question Number : 54 Question Id : 68634012007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047413. 1
68634047414. 2
68634047415. 3
68634047416. 4

Question Number : 55 Question Id : 68634012008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The path through the network which establishes the minimum project direction 1s referred as-

1. Rational path

[

. Non-Rational path

L]

. Critical path
4. Non-Critical path

Options :

68634047417. 1
68634047418. 2
68634047419. 3
68634047420. 4

Question Number : 55 Question Id : 68634012008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ead & W § IHaH uiaie 3ty F wifid uy & ¥ 1 Hefifd frar s &:
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Options :

68634047417. 1

68634047418.2

68634047419. 3
68634047420. 4

| )

L

Question Number : 56 Question Id : 68634012009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The acronym IPCC is associated with-
1. building certification system
2. measure of energy expanded
3. Climate change

4. Affordable housing

Options :
68634047421. 1



68634047422. 2
68634047423.3
68634047424. 4

Question Number : 56 Question Id : 68634012009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047421. 1

68634047422. 2

68634047423.3
68634047424. 4

Question Number : 57 Question Id : 68634012010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The focus area of Florence charter is .

1. Conservation of places of cultural significance

[

. Conservation and restoration of monuments and sites
3. Conservation of historic town
4. Conservation of historic gardens

Options :

68634047425. 1
68634047426. 2
68634047427. 3
68634047428. 4

Question Number : 57 Question Id : 68634012010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047425. 1

68634047426. 2

68634047427. 3
68634047428. 4
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Question Number : 58 Question Id : 68634012011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following variable or parameters is not used in Psychometric chart.

1. Effective Temperature

[ )

. Enthalpy

L]

. Specitic volume of Dry Air
4. Humidity-Absolute

Options :

68634047429. 1
68634047430. 2
68634047431. 3
68634047432. 4

Question Number : 58 Question Id : 68634012011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634047429. 1
68634047430. 2
68634047431. 3
68634047432. 4

Question Number : 59 Question Id : 68634012012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify correct formula for calculating illuminance(E) surface at a distance (d) normal to the direction of light
source with intensity (I)

1.E=1/d

| ]

.E=T/d?
3.E=T4d
4. E=1d*

Options :

68634047433. 1
68634047434. 2
68634047435. 3
68634047436. 4

Question Number : 59 Question Id : 68634012012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSI T (%) DT a8 WR a3l (S). S oiie W T=T Felld (3MT%) P 1 1A= G20 & 51l 5. &1 0E1 &
foe et 9 31 ggaE I8

1.E=T/d

[ ]

.E=1/d?
3.E=1/4d

4. E=1/d*

Options :

68634047433. 1
68634047434. 2
68634047435. 3
68634047436. 4

Question Number : 60 Question Id : 68634012013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GIS stands for.

—

. Geo spatial Information System

[

. Geo spatial Integration system

L]

. Geographic Information System
4. Geographic Information Sources

Options :

68634047437. 1

68634047438. 2

68634047439. 3
68634047440. 4

Question Number : 60 Question Id : 68634012013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634047437. 1
68634047438. 2
68634047439. 3
68634047440. 4

Question Number : 61 Question Id : 68634012014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

Structure Buildings
A | Double walled doms I [MIT Auditorium, Boston
B. [Folded plates 1. |5 Maria del Fiora Cathedral, Florence
C. |[Flying buttress III. [Riverside Museum, Glasgow
D. |Shell IV, |Notre Dama Cathedral, Paris

Choose the correct answer from the options given below:

1. a0 B-IV C-lll DAl

[

LB BAlE CHIV D
3. A0 Bl CIAV D
4. A-ll Bl CAv DAl

Options :

68634047441. 1
68634047442. 2
68634047443. 3
68634047444. 4

Question Number : 61 Question Id : 68634012014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. a1 B-IV C-ll DAl
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A B-IT G-IV D

L

Bl B-Il G-IV DA
4. A-ll Bl C-lv DAl

Options :

68634047441. 1
68634047442. 2
68634047443. 3
68634047444. 4



Question Number : 62 Question Id : 68634012015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which 1s not the direct cost combination from the following in a building construction project.

A. Site clearance and excavations cost
B. Material Cost

C. equipment Cost

D. Establishment Cost

E. Supervision Cost

Choose the correct answer from the options given below:
1.Aand E
2.BandD
3.Dand E

4. Cand E

Options :

68634047445. 1
68634047446. 2
68634047447. 3
68634047448. 4

Question Number : 62 Question Id : 68634012015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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C. U0 AT

D. T a1

E. THd&m] arTd

14 fau U famed! A 9 69 UG IR &1 99 B
1.A3IRE
B3RD
3.D 3RE
4.C 3RE
Options :

68634047445. 1
68634047446. 2

2



68634047447. 3
68634047448. 4

Question Number : 63 Question Id : 68634012016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII

One Habitableroom | I |2.8 m®, minimum width 1.2 ml

P

[Kitchen only IL. |9.5 m*, minimum width 24 m

Both - we. combined |11 [1 1 m2

= Eod

Water closet (we) only] IV. 4.5 m*, minimum width 1.8 mf

Choose the correct answer from the options given below:

1. a1 B-Iv C-1 D

| ]

Bl B-l G-IV DAl
3. A1l Bl C-lIl D=1V
4. AV B-Il - Dl

Options :

68634047449. 1
68634047450. 2
68634047451. 3
68634047452. 4

Question Number : 63 Question Id : 68634012016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T LIST I
A [0 3| I HHA L psm?, FAqHAISE 121
B. [(dd THIEIR IL [9.5 m? AIqH TSt 24 i
C. [GIF1- TTex Farde UHE| IOL [1.1 m?2
D. [dbad drex dlde IV |15 m?, 90 9151 1.8 T

FfaiRad foseal § O 98! SR & 904 DI

1. a1 B-IV C-1 DN

[ ]

AL B-l GV DA

3. A Bl CAlIl D=1V

4. a-v B-IIl C-lll DAl



Options :

68634047449. 1
68634047450. 2
68634047451. 3
68634047452 4

Question Number : 64 Question Id : 68634012017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Place/ Events Heritage significance/characteristics|
Kumbh Mela I |Cultural landscape
F.ock Shelter of Bhimbatka] II. [Living heritage
[Kailash Temple, Ellora II1. [Intangible cultural Heritage
Jaisalmer IV |Rock cut architecture

T REE

Choose the correct answer from the options given below:
1. AW B C-ln DN
2. AV B-lIl C-1 DA
3. A1 B C-IV DA
4. A1l Bl CAV DA

Options :

68634047453. 1
68634047454. 2
68634047455. 3
68634047456. 4

Question Number : 64 Question Id : 68634012017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

A1 T I

Y Hell wﬁ'ﬁmﬁ
e @1 Aarsd| 1L [Sifad [Juad

AR 4ieT, TART | 1L [30d Wi ida faRd
[egaR IV [RId ®idd dRgdal

fafatad fawedl § I 9Et S &1 997 DI «

1. A B4 C-In DA

ofofw]>

| )

AWV B-I1 Al DA
3. A Bl GV DAl

4. A-ll B IV DI

Options :

68634047453. 1
68634047454. 2
68634047455. 3
68634047456. 4

Question Number : 65 Question Id : 68634012018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

[Photometric quantities| Units

[1lummance I. |Candela

[ uminous intensity] II. |Candela’sqm

[ uminance III. [Lumens/sqm

o ow[>

. [Luminous efficacy | IV. [Lumens/watt

Choose the correct answer from the options given below:

1. 44 B-N CNl DAV

b2

Al B C-ll DIV
3. A1 Bl C-lI DIV
4, A-ll B-l C-IV D-lI

Options :

68634047457. 1
68634047458. 2
68634047459. 3
68634047460. 4



Question Number : 65 Question Id : 68634012018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

A1 g
wIeHie® Al EEE]

N EFGEER] L [F=d

iTd dgdl 1L [F=an uid a7l -ie
SifaHg 111 [cgH=g ufd &l Hiey
TTE Salfaaaal v [@E-g ufd are

fafatad fawedl § I 9Et S &1 997 DI «

1. A4 BN ol DAY

IR

2. A1 Bl C-Il D=V
3. Al B-Il ANl D-IV
4. A-ll B IV DI
Options :
68634047457. 1
68634047458. 2

68634047459. 3
68634047460. 4

Question Number : 66 Question Id : 68634012019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TOD stands for in planning of cities:

1. Transit Oriented Design

| B

. Transit Oriented Development
3. Transferable Oriented Dwelling
4. Transportation Oriented Development

Options :

68634047461. 1
68634047462. 2
68634047463. 3
68634047464. 4

Question Number : 66 Question Id : 68634012019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

deliSigi By & fou uldes e
gifvTe SRTS foams
CbREd Ru<s JHa

—

| )

[#5]

=

Options :

68634047461. 1
68634047462. 2
68634047463. 3
68634047464. 4

Question Number : 67 Question Id : 68634012020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a concept of Sir Patrick Geddes-

1. Conurbation

[

. Constellation theory

L]

. Garden city

4. Geddesian trial

Options :

68634047465. 1
68634047466. 2
68634047467. 3
68634047468. 4

Question Number : 67 Question Id : 68634012020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafad d T H 91 IR Ufc® 1S9 &1 S[@eRN 5 5:
1. ITTRIT fG%R
ARHSd
TS e
4, TSR o

-

| )

[#%]



Options :

68634047465. 1
68634047466. 2
68634047467. 3
68634047468. 4

Question Number : 68 Question Id : 68634012021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given conceptual plan of a city P.Q.R and S refer to urban patterns. Choose the correct association.

1. P-Satellite town

Q-Urban fringe
R-TOD

S- Central Business District

[

. P- Central Business District
Q- Satellite town
R-TOD
S- Urban fringe
3. P- Urban fringe
Q- TOD
R- Satellite town
S- Central Business District
Options :
68634047469. 1
68634047470. 2

68634047471. 3
68634047472. 4



Question Number : 68 Question Id : 68634012021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fep<it 2reR @1 &1 T YRS ToT H P.Q.R 3R S W6 UeA & Ualld ®d o | ol [doed &I I:

o i

City
Boundary

1. p-TcdIge T3
Q-3Ha I
R- T 3T 31
s- Yoo faomg feficae

;
;5;
1

Q- Tl 3 3t
R-ICAEE T3

Options :

68634047469. 1
68634047470. 2
68634047471. 3
68634047472. 4

Question Number : 69 Question Id : 68634012022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a zone.

1. Residential

[

. Commercial
3. Industrial

4. Electrical

Options :

68634047473. 1
68634047474. 2
68634047475. 3
68634047476. 4

Question Number : 69 Question Id : 68634012022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT W e T &
1. SATardig
G ®
e
4. Taggd
Options :
68634047473. 1
68634047474. 2

68634047475.3
68634047476. 4

| ]

¥

Question Number : 70 Question Id : 68634012023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Parliamentary in building hardware is a type of -
1. Bar
2. Lock
3. Hinge
4, Bolt

Options :
68634047477. 1



68634047478. 2
68634047479. 3
68634047480. 4

Question Number : 70 Question Id : 68634012023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gttt @ sSeR I TH USRS &

1.dR

L)

BNICT

[

%E

=

4. dlec

Options :

68634047477. 1
68634047478. 2
68634047479. 3
68634047480. 4

Question Number : 71 Question Id : 68634012024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following are NOT climate induced Disaster/Hazards.

1. Heat Land Effect

[ ]

. Urban Flooding

L]

. Cloud burst
4. Earthquake

Options :

68634047481. 1
68634047482. 2
68634047483. 3
68634047484. 4

Question Number : 71 Question Id : 68634012024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[rafead o 4§ o H-4 STaarg YR HT9ea1aRT 78l &
1. 7T GIYR gH1G
BRI

. dlqt] T

[ ]

L]

4, Yog

Options :

68634047481. 1
68634047482. 2
68634047483. 3
68634047484. 4

Question Number : 72 Question Id : 68634012025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Name the view which can be generated by Remote serving sensor to see large areas at the same time.

1. Perspective view

b2

. Orthographic view

LFS]

. Synoptic view
4, Worms view

Options :

686340474385. 1

68634047486. 2

68634047487. 3
68634047488. 4

Question Number : 72 Question Id : 68634012025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G4 T P AT 9q14 ofl UF ! 99 1 g2 &9 DI oa- & [of KAl SR TR gR1 3o a1 of 9@l &
afiem =g
STt
 Gfard =g
4. 19 DI 3{1El ¥ @A g T

a—y

[

L]

Options :



68634047485. 1
68634047486. 2
68634047487. 3
68634047488. 4

Question Number : 73 Question Id : 68634012026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Santiago calatraval [. [Heydar Aliva cultural centre, Baku Azerbaijan
B. [Eenzo Piano II. jinfinity tower, Dubai
C. [Ken Yeang TI1. Jtj1 basu cultural centre, New Caledonia
D. |Zaha Hadid IV, |Solaris Building, Fusionopolis Eesearch and Development complex, Singapore

Choose the correct answer from the options given below:

1. a4 Bl €11 DH

2

AN BT CHIV DA

AL B-IT G-IV D

LFS]

4. A-ll B-l C-Iv DAl

Options :

68634047489. 1
68634047490. 2
68634047491. 3
68634047492. 4

Question Number : 73 Question Id : 68634012026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

T 1 g 1
HieamT drarca| [ |8 A geieRd HeX, d1d, HeRaaH

CEIRIE 11 [g9pHE] TR gag
B g 111 [Ty defd’a Yex, 3 dais ]

BRI V. [aRy fefes, wifsmmiey REd uog Saaude sida, FHmR
fFrafeiad fasedl o 9 98l Gk &1 98- S -

1. A-v B €11 DH

ofofw]-

|

AN BT GV D

L]

LBl B-IE GV DH
4, a-ll B-l C-Iv DAl

Options :

68634047489. 1

68634047490. 2

68634047491. 3
68634047492. 4

Question Number : 74 Question Id : 68634012027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
statement I: Carpet area does not include the thickness of the inner walls.

Statement ll: Carpet area includes the thickness of the inner wall.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

[

. Both Statement | and Statement Il are incorrect
3. statement | is correct but Statement Il is incorrect

4. statement | is incorract but Statement Il is correct

Options :

68634047493. 1
68634047494. 2
68634047495. 3
68634047496. 4



Question Number : 74 Question Id : 68634012027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIEARAICA TR I

HYAIL: HRYUC TRaT H il dlari @1 Hierg wnfie 781 gidl 6 |

SR 11: PRUC TRar § v SR $t diers wniia skt g

QRIS BYH & HTciid 1, A< 34U U fdsedi T I 9 Sugad 3Rk &1 99 S

1. w1 AT neEt O &

A e = R 1 e A o A T B
3. BUT 18 &, Afched dUT 1 T §
4. U | 3 &, BT FUT 1T ¥

Options :

68634047493. 1
68634047494. 2
68634047495. 3
68634047496. 4

Question Number : 75 Question Id : 68634012028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Olgyay's Bioclimate chart combines the effect of
A. Vegetation
B. Dry Bulb temperature
C. Relative Humidity

D. Clumate Zone
E. Air Movement

Choose the correct answer from the options given below:
1.B.Cand E
2.A.Bandc
33B.Cand D
4. A CandE
Options :
68634047497. 1

68634047498. 2
68634047499. 3



68634047500. 4

Question Number : 75 Question Id : 68634012028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey & Tigagaie® 91c. fhad Yyd &l Jisdl 82

A. gHfq

B. gl farfefl & 7iicl &1 drgaH
C. TrofEa s

D. SRy &3

E. d1g UHTd

Dy s

19 fdu T fasbedl © 9 el SUgad 3R &1 99 DIy

1.B.C 3RE

2.A.B3liC

3.B.C3RD

4. A, C 3R E
Options :
68634047497. 1
68634047498. 2

68634047499. 3
68634047500. 4

Question Number : 76 Question Id : 68634012029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can not be considered as the Pre Historic Architecture?

1. monolith

[ )

. Westminster Place
3. Cave Dwelling
4. Stone henge

Options :

68634047501. 1
68634047502. 2
68634047503. 3
68634047504. 4

Question Number : 76 Question Id : 68634012029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fFrafefed o ¥ 63 gd-Ufaeiie gl & 39 H Fg1 514 o Ybdl 62
. ThTRH (HHIY)
T SHTaE

4. AT

Options :
68634047501, 1
68634047502. 2

68634047503. 3
68634047504. 4

—

| ]

[#%]

Question Number : 77 Question Id : 68634012030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following cannot be constructed by using RCC.

1. Foundation

[ )

. Slab of roof
3. DPC

4, Beam

Options :

68634047505. 1
68634047506. 2
68634047507. 3
68634047508. 4

Question Number : 77 Question Id : 68634012030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[rafefad o ¥ fewet Fatur sir 9 dt & gr1 =61 fbar & gl o
1.4lq
. Bd Bl ufear
St Ui
4, d11

Options :

| ]

(5]



68634047505. 1
68634047506. 2
68634047507. 3
68634047508. 4

Question Number : 78 Question Id : 68634012031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Urban Landuse Management DOESNOT include -

1. Re-development

o

2. Building Regulation and code
3. Land use Planning
4, Greenfield development
Options :
68634047509. 1
68634047510. 2

68634047511. 3
68634047512. 4

Question Number : 78 Question Id : 68634012031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR Y ST v § i T8 8
1. gfdeTH
A SUGRT BT T

B & fapr

| )

L

=Y

Options :

68634047509. 1
68634047510. 2
68634047511. 3
68634047512. 4

Question Number : 79 Question Id : 68634012032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Endemic plant is

1. Plant established as a part of the flora of a locale other than its place of origin

b2

. Plant indigenous to a particular locale

L¥ 5]

. Plant not nature to specific location and have tendency to cause damage to the environment
4. Plant that is found only in one geographic location on earth

Options :

68634047513. 1

68634047514. 2

68634047515. 3
68634047516. 4

Question Number : 79 Question Id : 68634012032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T e &
1. GTeT 30 Oa ®ITH & Siardl [l =1 R a98(d o T YN & $U O =A1Ud fdar 1|
2. U 49y =i & g wadedt drenn
3. 19 Herey 3 fafy =/ & 781 § 3R qaiarul &l g4 ugar @1 ughd 38d &
4, T8 U1 S Jedt IR Haq U HITee S O 1T Sl ©

Options :

68634047513. 1
68634047514. 2
68634047515. 3
68634047516. 4

Question Number : 80 Question Id : 68634012033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As per Munsell system of colour classification. which s not the attribute for colour property from the
tollowing.

1. Hue

2. value or lightness
3. Luminance

4, Chroma

Options :



68634047517. 1
68634047518. 2
68634047519. 3
68634047520. 4

Question Number : 80 Question Id : 68634012033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT giffepx ol B g3 HomTell & SR, Sl (9 # 9 31770 & forg faiky =gl &

1. 39

| )

I g1 §eh 9
- Hifasadr
4. I

[#5]

Options :

68634047517. 1
68634047518. 2
68634047519. 3
68634047520. 4

Question Number : 81 Question Id : 68634012034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the frequency of light for the given wavelength of 1.19 ecm and velocity of light as 3x10% m/s

1. 0.252 GHZ

| )

.2.52 GHZ

3.25.2GHZ

4.2.52x10!% GHZ

Options :

68634047521. 1
68634047522. 2
68634047523. 3
68634047524. 4

Question Number : 81 Question Id : 68634012034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 1.19 cm B &1 TS, T G& TUT 310° /s WPTR BT A7 § ol WebIRT ATGRI 1 5

1. 0.252 GHZ

|

.2.52 GHZ
3.25.2 GHZ
4.2.52x101° GHZ

Options :

68634047521. 1
68634047522. 2
68634047523. 3
68634047524. 4

Question Number : 82 Question Id : 68634012035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Colosseum I. |Athens
Parthenon I1. |Petra

Temple of Amon| II1. [Rome
The Treasury IV [Karnak

T REE

Choose the correct answer from the options given below:

1. a4 BV C-ll DH

2

BV OBl C-Il DA
3. Al Bl C-IV D-ll
4. AV B-1 C-lll D-Il

Options :

68634047525.
68634047526.
68634047527.
68634047528.

A W N =

Question Number : 82 Question Id : 68634012035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 i 11 9 i Sife

A1 g1
BlIEIER 1 [odg
EIDEE 1. [uer
U HIB HAE| L [

G Coli] V. [@r®

fafafad faemedl O O 981 IR &1 994 I -

1. 44000 BV €Il DA

ofofw]s

|

A-v Bl C-lI D-

L]

AN B G-IV DA
4, A-IV B-l C-lll D-NI

Options :

68634047525.
68634047526.
68634047527.
68634047528.

AW N =

Question Number : 83 Question Id : 68634012036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Paint is glossy when pigment volume concentration is high

Statement Il: Base of paint is usually oxides of metals

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

[

. Both Statement | and Statement Il are incorrect
3. statement | is correct but Statement Il is incorrect

4. statement | is incorract but Statement Il is correct

Options :

68634047529. 1
68634047530. 2
68634047531. 3
68634047532. 4



Question Number : 83 Question Id : 68634012036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR TR
HYT 1 : TN IHHAR GBI & Od Ui HEAT D1 HET AU Bl 6 |
HU I1: U BT YR ATHIR TR UIg37 & AEs gid !
QRIS BYH & HTciid 1, A< 34U U fdsedi T I 9 Sugad 3Rk &1 99 S

oy

.U 13T 1EE 5 §

(B

N R A o s s B Y

L]

.Y 1 T T ©, oifhe U 13 ST B
4, BT | FET &, fehT FUT 0TI &

Options :

68634047529. 1
68634047530. 2
68634047531. 3
68634047532. 4

Question Number : 84 Question Id : 68634012037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What 1s the structure type of Howrah Bridge, Kolkata?
1. Arch
2. Simple supported
3. Suspension
4. Cantilever

Options :

68634047533. 1
68634047534. 2
68634047535. 3
68634047536. 4

Question Number : 84 Question Id : 68634012037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hiaddl FRUd g1as] oo fhg UeR &f T &
AT (3TH)
IR =Y 9 {¢eT g (Rl quics)
YT
| B
Options :
68634047533 1
68634047534. 2

68634047535. 3
68634047536. 4

a—y

[

L]

Question Number : 85 Question Id : 68634012038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In GIS. DEM represent information on

1. Vegetation cover

[ )

. Water table

L]

. Soil type

e

. Topography
Options :
68634047537. 1
68634047538. 2

68634047539. 3
68634047540. 4

Question Number : 85 Question Id : 68634012038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oif &g U4, 5 31 % U9 ¥ SFeRI el &
1. 9l & 3{TaR0I i
O & HTe P
I TR

4. d®Y DI

| )

L

Options :
68634047537. 1



68634047538. 2
68634047539. 3
68634047540. 4

Question Number : 86 Question Id : 68634012039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If Anemometer wind velocity: then hygrometer:?

1. Humidity
2. Precipitation
3. Pressure
4. Solar radiation

Options :

68634047541. 1

68634047542. 2

68634047543.3
68634047544. 4

Question Number : 86 Question Id : 68634012039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe uRe 591 & 371 A 981§ o gediHier Bl ogal &
1. HTeell

G

. adld

4. IR fafdo

Options :

68634047541. 1
68634047542. 2
68634047543. 3
68634047544. 4

[

L]

Question Number : 87 Question Id : 68634012040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If permissible FAR is 2:1 and maximum ground coverage is 30%, then utilizing full ground coverage and
assuming typical floors of equal area . the number of floors that can be built on the site will be-

1. G+7

[ ]

G+6
3.G+5
4.G+4

Options :

68634047545. 1
68634047546. 2
68634047547. 3
68634047548. 4

Question Number : 87 Question Id : 68634012040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl MUY (FAR) 2.1 § 3R SUGTH USS Bavel 30% o dl IVl T3S Havel Bl 3YFiT Hid §U 3R IR
HiSTell &1 ¥9H & J1-d §U WI5¢ W §1Y & Ueb- aTel HisTal &1 Twear gii:

1. G+7

2

G+6
3.G+5
4. G+4
Options :
68634047545. 1
68634047546. 2

68634047547. 3
68634047548. 4

Question Number : 88 Question Id : 68634012041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a type of urinal?

1. Squatting type

[ )

. Stall type

Lad

. Bowel type
4. Through type

Options :



68634047549. 1
68634047550. 2
68634047551. 3
68634047552. 4

Question Number : 88 Question Id : 68634012041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafeiad o ¥ o 1H-91 A1 &1 PR T35 o
1. 31 BT YPR (Wb TRY)

. ETA UPR (FId TeY)

| )

A UPR @13d 2gH)

[#%]

TTd YR (YRS 2150)

=

Options :

68634047549. 1
68634047550. 2
68634047551. 3
68634047552. 4

Question Number : 89 Question Id : 68634012042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Nagar Panchayat I |Smaller urban area
B. Municipal corporation] II. [Village, intermediate areas, district
C. |Panchayats II1. [Transition area from rural to urban
D. Municipal council IV [Larger urban area

Choose the correct answer from the options given below:

1. A4 Bl CAIV D-lI

b2

LAV B C-ll DA
3. A1 B-IV C-Il D-l
4, A-ll B-I C-Iv DAl

Options :

68634047553. 1
68634047554. 2
68634047555. 3
68634047556. 4



Question Number : 89 Question Id : 68634012042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

Tqat1 T I
e el B BRI E]
TR e 1L [TId. A3l &4, foral
BEIEG] 111 [B1c T Te<] & 5 S0l &3
TRUREE | IV. [@S1 984 &

fFafaRad fdwedl O O U1 IR &1 994 I :

1. A4 B-l CAv D-Nl

Ofo|w]=

| )

AV B CHE DA

L

AL BV C-ll D
4. A-ll Bl C-lv DAl

Options :

68634047553. 1

68634047554. 2

68634047555.3
68634047556. 4

Question Number : 90 Question Id : 68634012043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

statement I: Risk management is one of the function of construction project management.

Statement II: CPM is event oriented, whila PERT is activity orientad technigue.

In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement | and Statement Il are correct

| )

. Both Statement | and Statement 1l are incorrect
3. Statement | is correct but Statement Il is incorrect

4, statement | is incorrect but Statement Il is correct
A-l B-11 C-1E D=1V A-11 B-IIL C-I D-1v

Options :

68634047557. 1
68634047558. 2
68634047559. 3



68634047560. 4

Question Number : 90 Question Id : 68634012043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 g Py feu &:
HYA I SR ga Fuio aRasH gee= & sl d 4 U 5
HYFIL: C.PM HeHl SURT db-id 5. Sad! PER.T Tdldler senid qe-ie |
SWRIad HUA & dAiD H, A S0 0 [dFedi 5§ I Tel 3A &1 994 DIaIg:

1. PYTI ARSI T E
2. FYT 1 AR 1 SHT AT §

3. PU 1 UT €. A U 11 3T ©

4. PYTI HTI B, AfFT YT I T ©

Options :

68634047557. 1
68634047558. 2
68634047559. 3
68634047560. 4

Question Number : 91 Question Id : 68634012044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
[ Alvar Alto I [Long House, Washington
L ouis I Kahn I |Kimbell Art Museum
Robert A. M

Rre I Municipal library, Vipuri

Frank Gehry IV, |Guggenheim Museum, Bilbag

of o [w[=

Choose the correct answer from the options given below:
L. A-m Bl C DIV
2. A-IV B-Il G-Il DAl
3.4V B-II C-Il Dl
4. a1 B-l C-IV DIl

Options :



68634047561. 1
68634047562. 2
68634047563. 3
68634047564. 4

Question Number : 91 Question Id : 68634012044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

T 1 Tt I
3CTa e 1 [AN 81349, e
CI5d Ty ®led| 1L [heid 21 Jioga

Rigc U, w4 | 11 [mRARTg agsdl, Ao
Theh TEs] V. FriEEH HiemE, foaens]

frafatad foweat § I 98t SR &1 997 S«

1. A0 Bl CI D-v

REE

| B)

BV B-Il C-II DA
3. AV Bl C-II D
4, a1 B C-IV D-ll

Options :

68634047561. 1
68634047562. 2
68634047563. 3
68634047564. 4

Question Number : 92 Question Id : 68634012045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
statement I: The sun paths are different due to factor such as location

Statement II: The sun paths are different due to factor such as duration of the day and night

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement | and Statement 1l are true

| )

. Both Statement | and Statement 1l are false
3. Statement | is true but Statement Il is false

4, statement | is false but Statement Il is true

Options :

68634047565. 1
68634047566. 2
68634047567. 3
68634047568. 4

Question Number : 92 Question Id : 68634012045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICEACAIERANE

HYA L GO Uy Y o SRBI b RO A 5l 6

BYA 11: [ SR A B 3(afel oY PRI & SR Gd Y = §1d 3|
SWRIad HUA & dAiD H, A S0 0 [dFedi 5§ I Tel 3A &1 994 DIaIg:

1. PYTI ARSI T E
2 HYTI AR SHT T S

3. PU 1 UT €. A U 11 3T ©

4. YT 3EI e, Al Py 9d B

Options :

68634047565. 1
68634047566. 2
68634047567. 3
68634047568. 4



Question Number : 93 Question Id : 68634012046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Underpinning is the process of strengthening and stabilizing the foundations of an existing
building

reason R: It is also because the existing foundation may never have been adequate to carry their load leading
to excessive settlement of building one time.

In the light of the above statements, choose the correct answer from the options given below.
1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Alis true but R is false

4. Ais false but R is true

Options :

68634047569. 1
68634047570. 2
68634047571. 3
68634047572. 4

Question Number : 93 Question Id : 68634012046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e dl ey fau g
B I ISAUT U Hisiar [afes &1 i &1 aegd 3R (@R &3 31 wibar g

BY I1: U gaiaid ot § Fife Hisgar i el 1t 3P YR &I agd $=- & o aiw ol gl 9 o.
forad 1 aR § Yo &1 e HueH gl gadi gl

SWRIad HUA & AP H, A S0 0 [dFedi § I Tel 3a &1 994 DI

1. PYT IR ST T E

2 BYTT AR 11 SHT T T

3. YT 1 I ©, Afh- YU 11 3T ©

4. FYFI3EI e AfpT Py I 9§

Options :



68634047569. 1
68634047570. 2
68634047571. 3
68634047572. 4

Question Number : 94 Question Id : 68634012047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A mark of depth called Frog 1s found in__
1. Concrete Block
2. Bricks
3. Tiles

4, Wodden planks

Options :

68634047573. 1
68634047574. 2
68634047575. 3
68634047576. 4

Question Number : 94 Question Id : 68634012047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frog ATH® TGS & g YT oldl: &
1. Bohic sdld
2.5¢
3. CIRAT
4. gFHel &b dsd

Options :

68634047573. 1
68634047574. 2
68634047575. 3
68634047576. 4

Question Number : 95 Question Id : 68634012048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who introduced the Bio-climatic chart for the first time?

1. Houghten FC

[ ]

. Koenigsberger OH

L]

. Kopper W
4. Olgyay V

Options :

68634047577. 1
68634047578. 2
68634047579. 3
68634047580. 4

Question Number : 95 Question Id : 68634012048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o ugdl 9R Igasafes T oy far:
BI3c U, 4l
I SR 3. T

 PIU S&eg,
4. flem ot

Options :

68634047577. 1
68634047578. 2
68634047579. 3
68634047580. 4

oy

| )
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Question Number : 96 Question Id : 68634012049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ECBC was launched in India on May 27, 2007. It is applicable for.

A. Commercial buildings having less than 500 kw load.
B. Commercial building having load of 500 kw or more.

C. All buildings with conditioned floors areas 500 m? to 1000 m?.

D. All buildings with conditioned floors areas 1000m? or more.

Choaose the most appropriate answer from the options given below:
1. Aand C only
2.A. Cand D only
3.B and D only

4. B and C only

Options :

68634047581. 1
68634047582.2
68634047583. 3
68634047584. 4

Question Number : 96 Question Id : 68634012049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§ &t &t yRa & 27 92 2007 § @9 o mar o1 98 s fwan &

500 fohalldre ¥ & H YR dle GRS Ha

500 fdiiare § 91 389 3ifde YR drel HaHIfd® Ha-
500 FHIER Y 1000 aFiHiiex ardd 9 AP cd Yad

1000 GIHIER 1 3G U & arcl WR AP erd Ha-

-4 feu g fowetl & 9 9ad Sugad IR &1 94 DIfT:
1.%ad A 3R C
2.%ad A, C3RD
3.%ad B SIRD
4. Bad B3R C

Options :

68634047581. 1
68634047582. 2
68634047583. 3
68634047584. 4

w ol vl

Question Number : 97 Question Id : 68634012050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A study rooms needs to be lighted with 300 lux through a source of light incident normally on the table from
distance of 3 m. find the intensity of light source required (in Candela)

1. 900
2. 1800
3. 8100
4. 2700

Options :

68634047585. 1
68634047586. 2
68634047587. 3
68634047588. 4

Question Number : 97 Question Id : 68634012050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UD 3O D& Bl 3 m DI Gl T S W YHRI =0 Y 1fcd YT & Wid & H1EH H 300 ux Y A-H
TR DI AAIHT 5. ATRID YHTL Tl B digdl J1d B3 (Dol H)

1. 900
2. 1800
3. 8100
4. 2700

Options :

68634047585. 1
68634047586. 2
68634047587. 3
68634047588. 4

Question Number : 98 Question Id : 68634012051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
CASBEE I [India
GRIHA II. [England

Green Mark II1. Japan
BEEEAM IV |Singapore

N REE

Choose the correct answer from the options given below:

1. av Bl C-n DN

[

A Bl C-IV DAl
3. AW B CIl D-lI
4, Al Bl C-IV Dl

Options :

68634047589.
68634047590.
68634047591.
68634047592.

BN O R S R

Question Number : 98 Question Id : 68634012051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

I T 1T
[diuwgdizs | L [urd
EELE Rl BN EEE
U O T11. [ST9=
[demssuum | v R

FafaRad o eal © O 9gl SR & 994 DI

1. A Bl C-ll DHN

ol Fod o] g

| )

B Bl C-IV DN
3. AV B-l C-lll D-II
4, Al B-II C-IV Dl

Options :

686340475809.
68634047590.
68634047591.
68634047592.

A W N =



Question Number : 99 Question Id : 68634012052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The grade separated interchange suitable for 3 legged road mteraction 1s known as

1. Trumpet

| B

. Full clover leaf
3. Diamond

4. Partial clover leaf

Options :

68634047593. 1
68634047594. 2
68634047595. 3
68634047596. 4

Question Number : 99 Question Id : 68634012052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3- TS S SeaRH @ o7l SUgad U8 TS Sekad & [y &9 9 S ofdl o
1.¢He
2. Pl FefaR ol

3. 31OHS

[ a1
4. Yllcdhd gid< ot

Options :

68634047593. 1
68634047594. 2
68634047595. 3
68634047596. 4

Question Number : 100 Question Id : 68634012053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II (For standard size of drawing sheet)

LIST1 LISTII
A A4 I. |148=210
B JAS 1T J420=594
C. JA2 III |841=189
D. |JAD IV. [210=297

Choose the correct answer from the options given below:

1. A BV C-ll DA
2. A1 BV CI DN
3. A1 Bl G-IV D
4. AW Bl CI DAN

Options :

68634047597. 1

68634047598. 2

68634047599. 3
68634047600. 4

Question Number : 100 Question Id : 68634012053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 G 11 9 [ SIfSugre Hic & 89S fiaR & o)

1 TqA 10

A [G-4 I |148=210

B U5 I J420=594

C. [E-2 IIL. [841=189

D. [3-0 IV. p10=297
fFafaRad fdwedl O O U1 IR &1 994 I :

1. A4 BV C-ll DN

| )

AL B-IV G-I DA

L

Al B-lIE G-IV DA
4, A-W Bl C-Il D-INI

Options :

68634047597. 1
68634047598. 2
68634047599. 3
68634047600. 4



